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Língua Portuguesa

Questão 01
No sintagma:  “[...] o vento beija meus cabelos / as ondas lambem minhas pernas / o sol abraça 
o meu corpo / meu coração canta feliz” [...] temos:
A) Eufemismo
B) Metonímia
C) Prosopopeia
D)Hipérbole

Questão 02
Marque a opção cujo complemento verbal tem a função gramatical de objeto direto:
A) Germinaram no jardim as ervas daninhas.
B) Compramos, todos os dias, pão.
C) Sempre precisarei de você. 
D) Hoje meu dia nasceu feliz.

Questão 03
Escolha a alternativa cuja crase foi aplicada corretamente:
A) Ele exalava à cor da manhã.
B) Ela contava à todas as suas vitórias. 
C) À crianças estendo o meu respeito.
D) Refiro-me àquele filme sobre missões impossíveis.

Questão 04
Assinale a assertiva que apresenta aposto enumerativo:
A) Bons valores são necessários à manutenção da vida: fé, justiça, ética destacam-se.
B) Inteligente e qualificado, o estudante, foi chamado para o estágio.
C) Casa, comida e roupa lavada lhe foi oferecido.
D) Cidades catarinenses, Florianópolis e Joinville, destacam: beleza, urbanismo, gastronomia.

Questão 05
Escolha a resposta cuja oração apresenta verbo de ligação:
A) Virei a noite procurando meus óculos.
B) Ela tornou-se professora.
C) Andei quilômetros a fio.
D) Talvez continue respondendo as questões até amanhã.

Questão 06
Escolha a resposta em que o pronome “se” funciona como índice de indeterminação do sujeito:
A) Feriu-se até o último grau de arrependimento.
B) “Se ela dança, eu danço.”
C) Deitou-se na grama e relaxou.
D) Cada um tem o seu “se” de estimação.

Questão 07
Leia o trecho da música de Milton Nascimento e responda o que pede:

“Da janela lateral do quarto de dormir
Vejo uma igreja, um sinal de glória
Vejo um muro branco e um voo pássaro
Vejo uma grade, um velho sinal”

A palavra “lateral” é classificada como:



A) locução adjetiva
B) locução adverbial
C) advérbio
D) adjetivo

Questão 08
Releia texto de Milton Nascimento (questão 7) e responda.

A palavra “pássaro” é uma proparoxítona. 
Assinale a alternativa que ratifica a afirmação dada.
A) todas as proparoxítonas são acentuadas graficamente na antepenúltima sílaba
B) todas as proparoxítonas são acentuadas graficamente na última sílaba
C) todas as proparoxítonas são acentuadas graficamente desde que sejam tríssilabos
D) todas as proparoxítonas são acentuadas graficamente na primeira sílaba 

Questão 09
Ainda relativo aos versos do compositor mineiro, citados na questão 7, responda.

O termo, “de glória” usado no segundo verso, exerce a função normativa de:
A) adjunto adverbial
B) complemento nominal
C) adjunto adnominal
D) objeto indireto

Questão 10
Em relação aos versos acima citados (questão 7), assinale a afirmativa correta, observando-se
o tipo de locução que ocorre no excerto “do quarto de dormir”:
A) verbal
B) adjetiva
C) prepositiva
D) adverbial

Matemática

Questão 11
Seu Antônio é dono de muitas terras, e em um dos seus terrenos ele resolveu fazer um campo de futebol
para seus netos, o campo terá 90 metros de comprimento e 60 de largura. Quanto seu Antônio irá gastar
para colocar grama neste campo, sabendo que o metro quadrado da grama custa R$ 28,50?
a) R$ 15.390
b) R$ 153.900
c) R$ 1.539
d) R$ 153.590

Questão 12
Carlos e mais cinco amigos conseguem pintar uma casa em 18 dias. De quantos amigos a mais ele 
precisa para conseguir pintar esta mesma casa em 12 dias?
a) 9
b) 6
c) 3
d) 1

Questão 13
Dados os conjuntos A = {0,1,2,3}, B = {2,3,4,5}. Assinale a alternativa que representa o conjunto 
intersecção.
a) {Ø}
b) {0,1,5}
c) {0,1,2,3,4,5}



d) {2,3}

Questão 14
Guilherme joga toda semana na Mega Sena, este mês ele acertou as seis dezenas e ganhou um prêmio 
no valor de R$ 240.000,00, ele pegou esse montante e aplicou no banco rendendo a ele juros de 5% ao 
mês, no fim de quatro meses os juros são de:
a) R$ 24.000,00
b) R$ 34.000,00
c) R$ 42.000,00
d) R$ 48.000,00

Questão 15
Ao efetuar o cálculo (2x + 4) (4x + 6) obtém-se:
a) 8x² + 28x + 24
b) x² + 24x + 28
c) 8x + 24x + 28
d) 4x² + 28x + 24

Conhecimentos Gerais e Atualidades

Questão 16
O Produto Interno Bruto (PIB) brasileiro avançou 0,5% em maio, a alta do PIB quebrou uma sequência
de  três  quedas  mensais  seguidas.  Na  passagem  de  abril  para  maio,  o  crescimento  é  explicado,
principalmente, pelo desempenho da ________________e da ___________ . Marque a alternativa que
completa corretamente as lacunas acima:

A) Agropecuária e Indústria.
B) Agropecuária e comércio varejista.
C) Comércio varejista e Saúde privada.
D) Educação Privada e Agropecuária. 

Questão 17
Um aplicativo de redes sociais  começará a testar a ocultação das “curtidas” nas fotos. O teste é para
diminuir a competição entre os usuários, e incentivar às postagens de vídeos e fotos mais do que a
aceitação social. O aplicativo já realiza este procedimento no Canadá, e agora experimentará no Brasil.
Qual o aplicativo que fará esta mudança?

A) Facebook.
B) Instagram.
C) Orkut.
D) Twitter.

Questão 18
A Educação  Básica  deve  ter  base  nacional  comum,  em  2018  foi  incluído  pela  lei  13.666/18  a
obrigatoriedade de constar nos currículos escolares:

A) A educação alimentar e nutricional entre os temas transversais.
B) A educação moral e cívica nos objetivos.
C) A educação por formação continuada.
D) A educação Formativa por pressupostos teóricos.

Questão 19
A  avaliação  do  rendimento  dos  concluintes  dos  cursos  de  graduação  no  Brasil,  em  relação  aos
conteúdos programáticos, habilidades e competências adquiridas em sua formação, sendo obrigatório
constar a situação de regularidade do estudante no Exame em seu histórico escolar, é feito através do:

A) FIES
B) IFSC
C) IDEB



D) ENADE

Questão 20
A lei  13.415 sancionada em 2017, trás mudanças em uma das etapas no ensino brasileiro e gerou
muitas críticas, sendo discutida nos principais veículos de comunicação. Dentre as mudanças estão:

A) No ensino fundamental, a partir do sexto ano, será ofertada a língua inglesa. 
B) Na Educação Infantil será incluído valores Eurocêntricos. 
C) No ensino das Artes será incluído obrigatoriamente o Rococó.
D) A língua inglesa será ministrada com prioridade na Educação Infantil.

Conhecimentos Específicos

Questão 21
New York is not even ..................... London! London has an area of 607 square miles (1,572, Km2) NYC
has an overall area of 468.4 square miles, but, of which, just 302 is land. So NYC is physically .................
just  this  one  UK  city!  London  has  an  estimated  population  in  2017  of  8.825  millions  NYC has  an
estimated population in 2017 of 8.623 millions. So NYC also has a ................. population than London.
Not only is London ................. in both metrics than NYC, but it is also ................, by population, than 39
of the states of the US and DC. In fact it has a population more than 10 times the five least populated
states!  
John Orchard, lives in Great Britain  Answered Dec 8, 2018,  https://www.quora.com/Is-New-York-City-bigger-than-
all-of-England-UK

Choose the correct alternative to complete the text.
A) bigger than - smaller than – smaller – bigger -  larger
B) big than - smaller than – smallest – bigger -  largest
C) biggest than - small than – smaller – biggest -  large
D) bigger than - smallest than – smallest – bigger -  largest

Questão 22
Housework by Sheldon Harnick

You know, there are times when we happen to be just sitting there quietly watching TV, when the program
we’re watching will stop for a while and suddenly someone appears with a smile and starts to show us 
how terribly urgent it is to buy some brand of detergent or soap or cleanser or powder or paste or wax or 
bleach –to help with the housework. Now, most of the time it’s a lady we see, who’s doing the housework 
on the TV. 
So the very next time that you happen to be just sitting there quietly watching TV, and you see some nice 
lady who smiles as she scours or scrubs or rubs or washes or wipes or mops or dusts or cleans 
remember: Nobody smiles doing housework but those ladies you see on TV. Because even if the soap or 
detergent or cleanser or cleaner or powder or paste or wax or bleach – that you use is the very best one 
– housework is just no fun.
(C. Hart, L. C. Pogrebin & M. Thomas. Free to be You and Me, New York: McGraw-Hill, 2018, with adaptations.)

Judge if the following sentences are main ideas in the text.
A) TV ads give us good information about which soaps and detergents are best.
B) good cleaning products don’t make housework fun.
C) Children shouldn’t watch TV because there are too many ads.
D) The kitchen is the perfect place for women.



Questão 23
According to what you see in the picture, judge 
which the item is not correct.

a) The man is very hungry.
b) He loves spaghetti.
c) There isn’t much food in his plate.
d) He’s staring at the food.

Questão 24
Mr. Migicovsky said that installing apps on the new watch will be a simple process. “It’s possible to get up 
and run with impulse within five minutes,” he said, noting that you don’t need to be a programmer or 
developer to take advantage of the apps on the watch, but watch owners will have to rely on this 
community to build new applications.
In the fragment, “…watch owners will have to rely on this community to build new applications.”

The expression “rely on” means to:
a) go out
b) take over
c) move on
d) count on

Questão 25
Martin Luther King, Jr.
Speaks out on war and peace
The reason I can’t follow the old eye-for-aneye philosophy is that it ends up leaving
everyone blind. Somebody must have sense and somebody must have religion. I remember some years 
ago, my brother and I were driving from Atlanta to Chattanooga, Tennessee. And for some reason the 
drivers that night were very
discourteous or they were forgetting to dim their lights... And finally A.D. looked over at me and he said, 
“I’m tired of this now, and the next car that comes by here and refuses to dim the lights, I’m going to 
refuse to dim mine”. I said, “Wait a minute, don’t do that. Somebody has to have some sense on this 
highway”. And I’m
saying the same thing for you here in Birmingham. We are moving up a mighty
highway toward the city of Freedom. There will be meandering points. There will be curves and difficult 
moments, and we will be tempted to retaliate with the same kind of force that the opposition will use. But 
I’m going to say to you, “Wait a minute, Birmingham. Somebody’s got to have some sense in 
Birmingham”.
Martin Luther King, Jr., May 3, 1963. 
Internet:<http://www.stanford.edu/group/King/about_king/warandpeace/wpquotes.htm.> (with adaptations).

In text, the “eye-for-an-eye philosophy” corresponds to
A) the need to keep an eye on other people’s philosophy.
B) the belief that if somebody harms you, you must feel sorry for him or her.
C) the belief that one has the right to give somebody a punishment that is as serious as the offence he or 
she has committed.
D) the saying longe dos olhos, longe do coração in Portuguese.

Questão 26
As generally understood, propaganda is opinion expressed for the purpose of influencing actions of 
individuals or groups. Propaganda thus differs fundamentally from scientific analysis. The propagandist 
tries to “put something across”, good or bad. The scientist does not try to put anything across; he devotes
his life to the discovery of new facts and principles. The propagandist seldom wants careful scrutiny and 
criticism; his object is to bring about a specific action. The scientist, on the other hand, is always prepared



for and wants the most careful scrutiny and criticism of his facts and ideas. Science flourishes on 
criticism. Dangerous propaganda colapses before it. 
(A.M. Lee & E. B. Lee. The fine art of propaganda. 1939. In: 
http://carmen,artsci.washington.edu/propaganda/home.htm, with adaptations.)

 
In text, “The scientist try to put anything across” does not mean that:
A) scientists try to influence people’s minds.
B) the scientist does not force people to believe things.
C) a scientist does not make an effort to put something across.
D) scientists do not aim at deceiving people.

Questão 27
Diamonds are famous for symbolizing wealth and glamour, but do you know their origins? Diamonds are
natural, crystalline minerals made up of carbon atoms. They were formed deep within the earth billions of
years ago, by a combination of extreme pressure and heat. They are the hardest substance found in
nature – only a diamond can cut another diamond. Besides their use as personal adornments, diamonds
have several industrial purposes, such as cutting iron and polishing. Nowadays, approximately 25% of
diamond mines are located in South Africa, which makes that country the world’s largest producer of the
precious stone. https://www.eravos.com/en/all-about-diamonds.html

The diamonds mines in South Africa produce:
A) One quarter of the diamonds in Africa.
B) One quarter of diamonds in the world.
C) Lots of different precious stones.
D) Letter B and C are correct.

Questão 28
Galileo Galilei was one of first modern scientists. He was born  in Pisa, in 1564. At first he ………………. 
philosophy, mathematics and astronomy. He was interested in the way the earth and others planets 
……………………. around the sun. He found out important facts about our world. Galileo …………….. 
about the things, he did experiments and …………………. to see what happened. 
https://books.google.com.br/books

Choose the correct alternative to complete the text:
A) studies -  didn’t stayed -  didn’t guess  - have watched  
B) has studied -  stayed - guessed  - didn’t watches  
C) studies-  have stayes  -  didn’t guess  - did not watched  
D) studied -  stayed -  didn’t guess  - watched  

Questão 29
Choose  the correct alternative for the tag-question for each sentence:
1) She never replies to my comments, ________________?
2) I am tired of studying, ___________________________?
3) Paul has seen something strange, _________________?
4) Let’s change our pens, __________________________?
5) Come here, ___________________________________?

a) 1) doesn’t her - 2) isn’t I - 3) hasn’t him - 4) shall we - 5) won’t you
b) 1) does her - 2) aren’t I - 3) isn’t he - 4) shall we - 5) will you
c) 1) does she - 2) aren’t I - 3) hasn’t he - 4) shall we - 5) will you
d) 1) doesn’t she - 2) aren’t I - 3) haven’t he - 4) can’t we - 5) shall you

Questão 30
Choose the best alternative to complete the sentence:
“We were going in my.................................................................” .
a) friends' red car
b) friends's red car
c) friends red’s car
d) friends red car’s


